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QUESTION 1

Which of the following statements is true regarding the following /etc/resolv.conf file? 

search example.com nameserver 208.77.188.166 nameserver 208.77.188.167 

A. There is a syntax error. 

B. If DNS queries to the localhost fail, the server 208.77.188.166 will be queried. 

C. example.com will be appended to all host lookups. 

D. example.com will be appended to host names when they do not contain dots. 

E. The DNS server with the shortest ping time will be queried first. If the lookup fails, the second server will be queried. 

Correct Answer: D 

 

QUESTION 2

Which of the following commands is used on the command line to send messages to the syslog systems. 

A. lastlog 

B. klog 

C. logger 

D. slog 

E. syslog 

Correct Answer: C 

 

QUESTION 3

A French user has installed the French language pack, but currencies are still being displayed with a leading \\'$\\' sign
in spreadsheets. Which of the following must be done to fix this? 

A. Alter the locale. 

B. Set the timezone correctly. 

C. Edit /etc/currency. 

D. Reinstall the French language pack. 

Correct Answer: A 
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QUESTION 4

An administrator discovers a pending job for the at command. Which of the following does the administrator need to use
to remove it? 

A. atrm 

B. atq -r 

C. at -e 

D. rmat 

Correct Answer: A 

 

QUESTION 5

All of the following information is provided in any output from the netstat utility EXCEPT: 

A. broadcast services 

B. interface statistics 

C. masquerading connections 

D. network connections 

E. routing tables 

Correct Answer: A 

 

QUESTION 6

Which of the following outputs will the command seq 10 produce? 

A. A continuous stream of numbers increasing in increments of 10 until stopped. 

B. The numbers 1 through 10 with one number per line. 

C. The numbers 0 though 9 with one number per line. 

D. The number 10 to standard output. 

Correct Answer: B 

 

QUESTION 7

Which of the following commands will provide locale-specific information about a system and its environment? 

A. loconfig 
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B. getlocale 

C. locale 

D. tzconfig 

E. tzselect 

Correct Answer: C 

 

QUESTION 8

An ISP has given an executive an IP block for their use. The block is 192.168.112.64/27. If the network administrator
uses the first usable IP for the router that is installed on the executive\\'s network, how many usable IPs are left?
(Please enter the number and not a word) 

Correct Answer: Answer: 29 

 

QUESTION 9

An administrator needs to pause the CUPS printer Laserjet4, and wants to cancel all print jobs with a message, "hello".
Which of the following commands will do this? 

A. cupsreject -c -r hello Laserjet4 

B. cupsreject -p -m hello Laserjet4 

C. cupsdisable -c -r hello Laserjet4 

D. cupsdisable -p -m hello Laserjet4 

Correct Answer: C 

 

QUESTION 10

An administrator wants to determine the geometry of a particular window in X, so the administrator issues the
__________ -metric command and then clicks on the window. (Please enter only a single command and do not enter
duplicate answers in this field.) 

Correct Answer: Answer: /USR/BIN/XWININFO, XWININFO 

 

QUESTION 11

What is the command to delete the default gateway from the system IP routing table? (Please specify the complete
command with arguments, please no duplicate answers in this field.) 

Correct Answer: Answer: /SBIN/IPROUTEDEL0.0.0.0, /SBIN/IPROUTEDELDEFAULT, /SBIN/ ROUTEDEL0.0.0.0,
/SBIN/ROUTEDELDEFAULT, IPROUTEDEL0.0.0.0, IPROUTEDELDEFAULT, ROUTEDEL0.0.0.0,
ROUTEDELDEFAULT 
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QUESTION 12

Please specify the top directory containing the configuration files for the CUPS printing system. (Provide the full path to
the directory) 

Correct Answer: Answer: /etc/cups, /etc/cups/ 

 

QUESTION 13

All of the following are Mail Transport Agents EXCEPT: 

A. exim 

B. postfix 

C. sendmail 

D. qmail 

E. mail 

Correct Answer: E 

 

QUESTION 14

An administrator is looking into a new script that they have just received from a senior administrator. In the 

very first line the administrator notices a #! followed by a path to a binary. 

Linux will: 

A. ignore the script. 

B. use that binary to interpret the script. 

C. use that binary to compile the script. 

D. be replaced by that binary. 

Correct Answer: B 

 

QUESTION 15

What is the assigned port number for the HTTP service? (Provide the number with digits and not as a word) 

Correct Answer: Answer: 80 
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